
 

e Bernoulli's inequality
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Intermediate Value Property of Derivatives Darboux'sThm

lemma6.2.11 let I be an interval and CEI
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Thm6.2.12 Darboux'sThm

If f is differentiable on tab
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IntermediateValueThanof continuousfunction doesn't apply
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Also glb k fl b so lemma6.2.11 wiplies
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Eg6.2.13 The signum functiongas sgnix restricted on El 13

gox f
axe

s X O

I K X O

doesn't satisfy the intermediate value property

1 94 1 9517 1st 1 but no XE Ell sit 90 42

Therefore gu f'd forany differentiable function for El 17

ie The differentialeat off g has no solution on51,13


